Mo vuvie
COMPONENT . 70P0GRAFPH
=
=S INIC,

3936 TRADE CENTER DR. « ANN ARBOR, MICHIGAN 48104 » TELEPHONE: (313) 971-2782

FoweEA

o L/A\

-

T 2o
o ﬂ NW_C 2&_- 25y m.Mw\ mmw o
\\Iw/ w..m Su | w@ wwua;mﬁ @ A __, 1|,,,,_
’ ‘ —— a0 :o bu O [ y
5 s B 2T |3 ?. 60 . .3
//“_W\ m Jd __Mn._wuﬂu w\u e £33 m r..ﬁ _ — &
- £ - 2@__ j L 15 wMu.w : ' : oh?
plajersl % v o b5 U % Nh &Wuuomq n : mwm
mﬁ Al e YOIl oot :
M\u E : , 010 =3 Al ey 8| vLY
PG
: e po| Sl O gy [O15y o @ w2
U wytmm ([EOwhy €z 45y [9-7 05
by com 5T 1ny OLE) 47 % ruw
o ioh Ewa om0
/2 4 5 E E.wuu E.um r
e mbé b u_ g o | 39
\ h__Q Dr._ 49 -
O/ > LY ﬂ%\ qmm _.u\H w_x h@ _Mmmo
O .h__ BANMD > nh.. 212 T % . Da 19 ....’Q
| }\MS\\\.. /a\ & ...é r_um.& T__N.J:_ o nm_ ﬂ

— T

EQ.%&D@% 170 - @m— @_m_b- -m

S174Sol - ﬁa »_\:_.Gﬂa:u 3N OO EXXRXRXY
v

s Sec

qw\<\<TIU Q\ na M ::wﬂw::nd_

mv,

SLIZS SO
TINNYH D -N



~OWER ™M

TEM NOQTYPART

1 29.4
1
2 1 1.82
1
3 i 2.61
)1
4 1 16.2
)1
s | 130,
01
& 1 1.50
2
74 | 47 .
8 1 10.0
9 3 1. K
10 4 120.
11 & 100.
2 4 100
13 2 4.8
14 2 T 9
19 1 96.
16 1 47 .
17 3 15.
18 1 820
19 1 470
20 1 27 K
2 1 I3 K
22 1 18 K
23 1 22 K
24 1 250.
Z25 2 8.2
26 1 S.6
27 2
2 2 200.
29 2
30 z .47
31 1 033
32 3
R 3 .1 U
34 3
35 1 L 001
b 2 22 P
27 1 18 P
38 2 .01
39 1 . Q01
40 1
41 1
42 13 1IN91
4% 2 1N4O
44 4 10V
45 1
46 i
47 1
48 S 25K1
49 2 § 254
S0 1 T8=7
31 o 1/4

ODULE — =2 PER AMP (REV F)

NO. /7DESCRIFTION

K OHM 1%

K OHM 1%

K OHM 1%

K OHM 1%

K OHM 1%

K OHM S% 1/4 W

K OHM S% 1/4 W
K OHM 5% 1/4 W
OHM S% 1/4 W
OHM S% 1/4 W
OHM 5% 1/4 W F.R.
OHM S% 1/4 W
K OHM 5% 1/4 W
K OHM S%Z 1/4 W
OHM S% 1/4 W
OHM 5% 1/4 W
K OHM S% 1/4 W
K 5% 1/4 W
K 8% 1/4 W
S%4 1/4
9% 1/4
54 1/4
S% 1/4
OHM &W
K OHM 1W
OHM 3W N.I.

ZEEEE

« L

10 K OHM CERMET TRIMMER-FOT
OHM CERMET TRIMMER-FOT
4.7 UF/100V ELECTROLYTIC

UF/100V MYLAR
UF/100V MYLAR

180 PF SILVERED MICA-150 FF

F/50V MYLAR

10 UF/35Y ELECTROLYTIC

5 UF/35V MYLAR
F SILVERED MICA
F SILVERED MICA
UF MYLAR

8 UF/100V MYLAR

1000 UH CHOKE
2.7 UH/20 AMP CHK-HOMADE&2.7 OHM 5%

4 SIGNAL DIODE
01 G.FP. DIODE
ZENER

J 112 FET DIODE-(J111)
78L15 P0OS 15V REGULATOR
79L15 NEG 15V REGULATOR

34 MOSFET — N CH.
49 MOSFET - F CH.
S5 TEMP SENSOR
FUSE CLIF

COST/EA

. 026

7. SE-O3
T DE=OS
7« 9E—-03
7.5E-03
7+ BE~03
7.5E-03
7. 9E~03
7 « SE~-O3
7iSE~OF
7. 5E-03
7.+5E-03
T+ BE“0F
7. SE~03
7. SE-03
. 825

. 0B85

9

9

-ty

.17

. 286
.04

. 164
L0B2
063
061
.14

.14

. 045
.09

. 99

.71

« 02

.07

.06
.185
.198

« 445
3.3

S d

.94
L0175

CcosT/T70T

026

7. SE-03

7.5E-03
7. SE=03

L0225

i o .

. 045

+ O3
L0015
.015

7. SE~O3
7.5E-03
« 0229
7. 5E-Q3
7. SE-O3
7. 5E-03
7. 5E-03
7. 5E-03
7« SE-Q3
825
11

. ?

1

1

. 34
e i
.04

. 492

. 246

. 189

. 061

. 28

.14

.09

. 09

.« 5%

|

. 26

.14

.24
=185
198

L] 445
9.3

9.3

. 74

.07

VENDOR

405,501, 1801,19
405,501,1801,19
405,501,1801,19
405,501,1801,19
405,501, 1801,19
405,501, 1801,19

501,1801,1901
501, 1801,1901
501,1801,1901
501, 1801,1901
501,1801,1901
501, 1801,1901
501, 1801,1901
501,1801,17901
501,1801,1901
501,1801,1901
501,1801,1901
405

405

405

405

4095

405

401

501, 1801,190
401

101,107
101,107

1301

403

405,901

202

405,901

Q01

P01

403

403

202,405
01,107

401

107, 2303

801, 1801

801, 1801

1801

801,1801

1801

1801

803, 1801

803, 1801

303, 1607

202




26 1 5.6 OHM 3W N. 1. « e 401
27 2 10 K OHM CERMET TRIMMER-POT . 9 1 101,107
28 2 200. OHM CERMET TRIMMER-POT .5 1 101,107
29 2 4,7 UF/100V ELECTROLYTIC 37 .34 1301
30 2 .47 UF/100V MYLAR . 286 572 403
T4 1 .033 UF/100V MYLAR .04 .04 405,901
32 S 180 PF SILVERED MICA-150 PF . 1464 .492 202
I3 3 .1 UF/S0V MYLAR . 082 . 246 405,901
34 3 10 UF/35V ELECTROLYTIC . 08632 . 189 901
35 i L0015 UF/35V MYLAR . 061 061 201
3% 2 22 PF SILVERED MICA .14 .28 403
17 1 18 PF SILVERED MICA .14 .14 403
38 2 .01 UF MYLAR . 045 .09 202, 405
39 1 .0018 UF/100V MYLAR .09 .09 901,107
40 1 1000 UH CHOKE .59 .59 401
41 1 2.7 UH/20 AMP CHK-HOMADE%2.7 OHM 5% .71 .71 107, 2303
42 1T 1N914 SIGNAL DIODE .02 26 801,1801
43X 2 iN4OO1 G.P. DIODE « 07 .14 801,1801
44 4 10V ZENER .06 .24 1801
45 1 J 112 FET DIODE-(J111) . 185 .185 801, 1801
44 1 78L15 P0OS 15V REGULATOR .198 .198 1801
47 1 79L15 NEG 15V REGULATOR . 445 . 445 1801
48 3 25K 134 MOSFET — N CH. .1 9.3 803, 1801
49 3 25J 49 MOSFET - P CH. p P | P35 803,1801
S50 1 T5-75 TEMP SENSOR .94 .24 303, 1607
o1 L 1/4 FUSE CLIP 0170 07 202
9e 2 10 AMP FUSE .11 il 403
53 2 2N4403 PNP L0462 . 124 202,1801
=54 3 ZN4401 NPN L 062 . 186 202,1801
Y i NESS534 AN 1.8 1.8 801
6 1 MPS UGO/MPS LS1 .05 .05 202, 801
57 1 MPS U10/MPS LO1 .33 .33 901
58 1?2 &-32 X 7/8 PHILIPS SEMS PAN HEAD .02 .24 304
59 1?2 FIBER TRANSITOR HOLE INSULATOR-SML .03 . 36 101
&0 b FILM TO-3 INSULATOR-LG .071 426 101
61 232 #6 OUTSIDE STAR WASHER 2E-03 0446 304
2 24 6=32 NUT JIE~O3 LO72 304
&3 1 #46 SPLIT LOCK WASHER Z2E-03 2E-03 304
b4 16 EYELETS/23 KEYSTONE 4,3E-03 L0072 2301
65 & 1/4-20 X 1 1/2 HEX BOLT BLK OXIDE - 21 « 126 304
66 &  #1/4 SPLIT LOCK WASHER 4E-03 .024 304
&7 Q THERMAL COMFOUND Q Q O
&8 2 A4-40 X 1/4 PHILIF PAN HEAD 5.2E-03 . 0104 304
69 i VEP e P.C. BOARD o G JI.79 702
70 1 & PIN HEADER : 2901 . 2501 106
71 1 4 PIN HEADER . 1935 « 1935 106
72 1 12 PIN HEADER « 1605 « 1605 106
73 10 24 &A WIRE WHITE PVC .05 .5 1603
74 7 20 b4A WIRE RED PVC .05 .35 1603
Tt i 20, 6A BARE WIRE .01 .01 1603
76 & 18 6A BARE WIRE .03 .18 1603
77 2 61965 AL PLATE VSP MODIFIED 4, 29 8.58 102
78 2 &B&6A2 AL BAR VSP MODIFIED 17 1.54 102
79 i &B983 AL BAR VSP MODIFIED .79 .79 102
80 2 6B2201 HEAT SINK MODIFIED(VSP) .88 Y. 746 102
81 i HEAT SINK LABOR F A i =99 201

TOTAL = 62.248

30K K K 3K K 3K KKK K 30K 3K K K 3K K K K KK K K 0K 0K K 3K 3K KK K KK K 0K K 0K 3K K K KR KKK K KK K KK KRR KKK K K K KKK K KRR KRRk Ok Kk



SIGNAL FPFROCESSOR

ITEM NORQTYPART NO./DESCRIPTION

20
21
22

23

2

No= N

r

I‘J!"JI*JI'JPJH"‘HH&H*-"'"I"JPJHHI‘J:P-AI*JI*J-I]N-bl—*-h-Lﬂl“JhJLﬂ-b*"*—-Lﬂ-h‘*JM"‘l‘JH

10 K OHM 1% 1/8 W

4.87 K OHM 174 1/B W
7.68 K OHM 1% 1/8 W
2.61 K OHM 1% 1/8 W
178. K OHM 1% 1/8 W
96.2 K OHM 174 1/8 W

S2.3 K OHM 1% 1/8 W

10 OHM 1/4 W.F.R.

4.7 K OHM S%4Z 1/4 W

100 OHM 5% 1/4 W

100 K DHM S% 1/74 W

2.7 K OHM S% 1/4 W

1 M OHM 1/4 W S%

4.7 M OHM 1/4 W S%

4.8 K OHM 1/74 W S%

10 K OHM 1/4 W 5%

15 K OHM 5% 1/4 W

5.6 OHM S% 1/4 W

4.7 K OHM 574 1 W

10 K OHM TRIMMER POT

10 UF/35V ELECTROLYTIC CaAF
100 UF/35V ELECTROLYTIC CAF
.1 UF/100V MYLAR (MATCHED)
47 UF/100V MYLAR

.1 UF/50V MYLAR

NE S532AN

DFDT SWITCH/SLSA-220
TLOB2

1N?14
20V ZENER

TI1P31C

TIP32C

MFS UsLO/MPSLLS

MFS UIO (H.V. NFN)/MFS LO1
78L15 POS 15V REGULATOR
79L15 NEG 15V REGULATOR
F.C. BOARD

3/8 SWG TYPE STD-OFF/SPCR KETSON
12 PIN HEADER

20 GA BARE WIRE

S PIN HEADER/ &40456-5 AMF
5072 B HEAT SINK

5071 B HEAT SINK

4-40 PHILIPS PAN HEAD

4-40 NUT KEPS

TO-220 FILM INSULATOR
TO-220 SHOULDER WASHER

TOTAL = 17.5932

i FPER AMF

COST/EA COsST/TOT
. 026 . 082
. 026 .104
L 026 . 052
. 026 . 026
026 . 052
026 L0352
026 - 052
.03 .06
7. SE-03 7.59E-03

7.5E-0Q3 0525
7.5E-03 .03

7.5E-03 - 0375
7.9E-03 7.5E-03
7.5E-03 7.5E-03
7.5E-03 . 03
7. 5E-03 0375
7.5E-03 015
. 055 -11
-3 2.9
063 - 202
.12 .12
106 <424
. 286 . 9572
106 - 254
2.63 5.26
- 3 Y-
.72 .72
.02 .2

« 06 <12

« 22 .22
.22 o 22

- 05 |
«12 . 24

. 198 . 198
- 445 . 445
1.29 1.29
. 082 . 328
1605 . 4815
.08 1.2
.08 .08

. 025 . 025
016 - 032
S.2E-03 .0104
. 0169 . 0338
. 065 «13
.015 .03

(REV P>

VENDOR

405,501, 1801,19
405,501,1801,19
405,501,1801,19
405,501,1801,19
405,501,1801,19
405,501, 1801,19

101

101
501,801,1901
501,801, 1901
501,801,1901
501,801,19201
501,801,1901
501,801,1901
501,801,1%01
501,801,1901
501,801,1901
501,801, 1901
105

101,107

01

405, 1801

01

403

01

801

103

101

801,1801
1801
405,801,1801
405,801,1801
202

405,801

1801

1801

1401

2301

106

1603

106

102

102

304

304

1304

1304



